CSE373 Wi08 Homework 2             due Fri Feb 1 in class
Turn in your answers on your own paper. Please write neatly and clearly to help the TAs.
Staple multiple pages together and write your name on the top of every page.
(6 points) 1. (adapted from Weiss 6.1)  Describe a priority queue implementation where insert and findMin are both O(1).
(6 points) 2. Explain why it is not possible for there to be a priority queue implementation where insert and removeMin are both O(1).  Use the fact that it is impossible for any sorting algorithm to be faster than O(n log n).

(8 points) 3. (adapted from Weiss 6.2)  Show the result of inserting 10,12,1,14,6,5,8,15,3,9,7,4,11,13,2 one at a time into an initially empty binary heap.

(8 points) 4. (adapted from Weiss 6.3)  Using your result from (3), show the result of then performing three deleteMin operations.  Show intermediate steps (e.g. no deleteMins, 1 deleteMins, 2 deleteMins) so you can get partial credit.

(12 points) 5. Write code for threeWayMerge
// precondition: a, b, and c are in sorted order

// returns a new array in sorted order with the contents of a, b, and c

// runs in O(n) time, where n is the lengths of a, b, c
public int[] threeWayMerge(int[] a, int[] b, int[] c) 
